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Details on Subsumption

Maintain occurs-lists. [Biere(04]
- occur(p) 1s the set of clauses where pl occulis:

For each clause, store a 64-bit signature:
- Hash each literal tora number 02635 fakeiont

subset(Clause C, Clause C')
if (size(C) > size(C')) return FALSE
if (sig(C) & ~sig(C’)) return FALSE
return result of complete (expensive) subset test

findSubsumed(Clause C)
pick the literal p in C with the shortest occur list

for each C' U occur(p) do
if (C# C'&& subset(C, C'))
add C'to result
return result
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Demo!

Small BMC problem unrolled'4 time-irames;

Resulting boolean cincuit clausified by,
introducing one variable per binary: ANID/ X0

module main() SMYV file
d

num : array 4..0 of boolean;

init (num) := 6;
next(num) := (~num([0]) ? (num >> 1) : (num * 3 + 1);

test : assert G (num ~= 1);
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Size Reductions

SATELITE

#vars #clauses #literals #vars #clauses #literals #vars #clauses #literals
6pipe 15,469 394,739 1,157,225 15,067 393,239 1,154,868 11,863 322,584 1,017,510
abp1-1-k31 14,809 48,483 123,522 8,183 34,118 97,635 3,075 17,687 63,252
barrel9 8,903 36,606 102,370 4,124 20,973 66,244 1,712 16,195 87,294
cache 10 227,210 879,754 2,191,576 129,786 605,614 1,679,937 28,902 177,868 747,696
comb2 31,933 112,462 274,030 20,238 89,100 230,537 3,072 18,327 63,466
f2clk 40 27,568 80,439 186,255 10,408 44,302 125,040 4,273 24,791 81,251
fifo8 400 259,762 707,913 1,601,865 68,790 300,842 858,776 23,120 129,358 445,717
guidance-1-k 98,746 307,346 757,661 45,111 193,087 553,250 22,939 129,662 442,767
ibm-rule03 } 88,641 375,087 972,575 55,997 307,728 887,363 28,320 190,387 629,470
ibm-rule20 1 90,542 373,348 945,389 46,231 281,252 832,479 19,782 155,907 545,851
ip50 66,131 214,786 512,828 34,393 148,477 398,319 7,925 42,965 138,610
longmultl5 7,807 24,351 58,557 3,629 16,057 45,899 1,442 8,725 28,497
w08 14 120,367 425,316 1,038,230 69,186 323,985 859,105 33,934 220,220 688,301
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Heads-up Comparison
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